8838 (A 8838 (&) 8838 (A 8838 (B
BEDIB(CEX/TED) A ‘ AR bl
145 2% 3% 4% 15 2% 35 45 14 2% 3% 4%

Al |s@EiETa 5-102 [hEiE 1a 5-102 |hEE 5-102 1 [13-304| B 1 4+ Iz—zzz‘ ERELT S 13-320| RiEh fRRF coew [13-307| B 1

A5 2542
BEHE 13-320| AR 13-320
A2 |¢@EiETa 5-102 [hEiE 1a 5-102 |hEEa 5-102 1 |3—304‘H2 4+ Iz—zzz‘ A2 |gmEny 13-320| Rk fRRF: e [13-307| A 2 | imga
A5 2
BEHE 13-320| AR 13-320
A3 RERS 1 mfano‘ﬁs Rk 13—121‘ B3 |mmiy 13-320 idi 32t o |13-307] A3
EPEEES
BEHE 13-320
A4 BEAEE /005> | 13-320| B AER%/005 | 13-320| 4 4+ Iz—zzz‘ B4 [sEr/005 |13-320| Rikih 13-202| iR /90%) [13-320| mwwmn newy [13-307| B 4
A5 2542
13—222‘ BS m—zzz‘ AS 13-222 A5
8848 O 8848 (O 8848 (O 8848 (U
HEDEB(CEX/CED) ’ ‘ £ ‘
14 2% 3% 4% 15 2% 35 A% 14 2% 3% 4%
K1 |bEELa 5-102 |hEiETa 5-102 |PEETa 5-102 Al Ed 3] 13—121‘ K1 |y 11-101| kiR IHZZ‘ smzmn e |13-307] K1
EREEES 2
K2 |bEE1a 5-102 |hEiETa 5-102 |PEiETa 5-102 X2 Ed 3] 13—121‘ K2 |y 11-101| kR IHZZ‘ smzmn e |13-307] K2
EPEEES 2
X3 X3 £33 ] 13-222 B SEEE | o0, [ X3 Rk 13-222 smxmn e |13-307] K3
EEE ‘ Fr) EEEd ‘
K4 R4 Rieth 13-222 P RiEh 13-222 mazmn e [13-307| K4
EREE ‘ RS ‘
13-222 X5 13-222 X5 13-222 X5
‘ EREE ‘ ‘
8858 UK 8858 0K 8858 UK 8858 0K
HE-DE(EEX/C 3 £
14 3% Y3 14 2% ‘35 4% 14 24 ‘SE pY:3
K1 |sEEa 57102 | La 57102 |hEELa 5-102 |SCAO#EM |13-320| K 1 BRI 13-202 K1 Ed3 ] 13-222 mmzE e [13-307] K1
EREE ‘ RS ‘

K2 |sEiETa 57102 | La 57102 |hEELa 5-102 |SCAOREM |13-320 K2 RiE# |z—zzz‘ K2 Rl 137222‘ mEzE e [13-307] K2
EPEESS 54z

K3 LEEE LK [13-228 SCAOREN [13-320] K3 RIER 13-202 k3 Ed3 ] 13-222 mEza e [13-307] K3
EREE ‘ RS ‘

k4 DI 13-228 k4 RIER 13-202 K4 R 13-222 mEzE e [13-307] K4
EREE ‘ RS ‘

K5 |aAmEL  [13-222 K5 BAES® [13-222 k5 BAEFE  [13-222 X5
ERE ‘ EREE ‘ ERE ‘

8868 (X 8 8868 (X 8868 (K
BE DB (CEX/TED) R RER
hE:3 2%F 3F 4F 14 2% 3F 45 15 2% 3F 4%

A1 |eEEa 57102 | La 57102 |hEELa 5-102 X1 K1 |maumn amzE e [13-307| K1

O
ERE 13-320
wRom ez

A2 |$EHEa 5-102 [hEFETa 5-102 [hEEETa 5-102 K2 A2 |Exmm 13-320| ARMAERE sEEEL e [13-307| K2

mRoR snFEon
€3] 13-320
BRoR TR
A3 Hxla 13-313 X3 A3 amzE e [13-307| K3
R4 HHIb 13-313 x4 X4 amsE e [13-307| K4
K5 |AESEA  [13-220 X5 13-222 X5 BAEEL (13222 amze @ [13-307| K5
AS54v ‘ A4y
8878 (& 8 8878 (&) 887H Gk
HEDIB(CEX/TED) [ i ES ‘ X
14 24 3% 4% 24 3% 4% 14 24 3% 4%
1 |eEEa 57102 |EE La 57102 [hEE La 5-102 13-201| 1 RIER 13-311 £1 R 13-311 amsE e [13-307| 1
EREE) ‘ RS ‘

2 |vEE1a 57102 |EE La 57102 [hEE La 5-102 13-201| 2 RIER 13-311 2 R 13-311 amzE e [13-307| $2
ERSZ) ‘ EREE ‘

#3 13-201| 3 RIER 13-311 £3 R 13-311 smERy ey [13-307| £3
EREZ) ‘ RS2 ‘

4 £4 RIS 13-311 £4 RS 13-311 swzs e |13-307| £4
EREZ) ‘ RS ‘

£5 |axmsm/oon 13—3u‘ £5 B /905 |3—3n‘ £5 BAERE/00% ufm‘ smERl ey [13-307| 6

8888 (1) 8H88 (1) 8888 (1) 8888 (£
BEDIB(CEX/TED) A AR ‘ KER
hE:3 24 3% 4% 14 24 3% 4% 14 24 3% A%

+1 t1 £1 HRUERE n—:m‘ 1

t2 t2 t2 HRUERE n—:m‘ t2

+3 +3 13 HRUERE n—:m‘ 3

ta t4 t4 HBHIERE |13-307 ta

+5 15 15 +5




88108 (A 88108 (A 88108 (A 88108 (3
BEDE(CEX/CED) k= 1 ERERE Rk
14 2% 3% 4% (22 14 26 3% 4% 1% 2% 3% 4%

A1 B1 A1 A1

B2 B2 A2 B2

A3 B3 A3 A3

A4 A4 A4 A4

A5 BS AS BS5

88118 (O 88118 (W 88118 (O 88118 (U
HEDE(CEX/CED) B R K2l
15 26 3% 4 15 lziﬁ LT3 a5 14 2 \3; atE

Al X1 13-311 pal |a—ao7‘ Al

X2 X2 13-311 X2 |a—ao7‘ X2 |ommsrznmons

X3 X3 13-311 X3 |a—ao7‘ X3

x4 x4 x4 13-307 x4

x5 x5 x5 X5

88128 0K 88128 0K 88128 0K 88128 UK
HEDECEX/CED) B LSS KEIR
1% 26 kY3 4t 1% 26 3% 4% 15 2 ‘35 4

K1 K1 K1 m—am‘ K1

K2 k2 K2 m—am‘ K2

K3 k3 k3 m—am‘ P&

K4 > [13-228 K4 k4 13-307 ka4

kK5 K5 K5 k5

88138 (X) 88138 (X 88138 (X 88138 (K
HEDECEX/CED) B LSS KEIR
1% 26 kY3 4t 1% 26 3% 4% 15 2 Y3 4

A1 A1 A1 A1

A2 K2 X2 A2

A3 X3 A3 A3

X4 X4 X4 X4

A5 K5 A5 X5

88148 (&) 88148 (&) 88148 (& 88148 (&
BE DB (CEX/TED) B ) S35 KER
15 25 3% af 14 25 3% a% 15 2 3% af

£1 £1 £1 £1

2 £2 £2 2

£3 £3 £3 £3

£4 £4 £4 4

£5 £5 £5 £5

88158 (D 88158 (B 88158 (D 88158 (£
BE DB (CEX/TED) B ) S35 KER
15 25 3% af 14 25 3% a% 15 2 3% af

£1 11 1 £1

t2 +2 t2 t2

13 13 3 13

4 ta ta 4

15 15 15 15




88178 (B) 88178 (B 88178 (B 88178 (5
BEDE(CEX/CED) B AR KRR
15 Y3 Y3 4 (22) 15 2% Y3 4 15 2% 3% 4%
B 1 | A 1 /605 [5-102 |chEEA 1 /604 |5-102 |HEEA [ /604 |5-102 A1 A1 A1
A2 A2 A2 A2
FRGERT - TBTAT
A3 B3 RIEBLVI—R| 5 04| A3 A3
BEE
[E2)
A4 B4 Aa Aa
A5 BS AS A5
88188 (W) 88188 (YO 88188 (W) 88188 (U
BEDE(CEX/CED) B fEpRRE
14 2% 3% x:3 14 24 3 4% 14 24 keE:3 Y3
pal x1 P4l x1
%2 K2 %2 %2
X3 X3 X3 X3
ka xa &a ka
X5 P X5 X5
88198 0K 82198 (K 88198 0K 88198 Uk
HEDE(CEX/CED) BiE iR K2l
1% 25 3% 4% 1% 25 3% a% 1% 26 3% Y
k1 7K1 K1 k1
k2 k2 k2 k2
K3 FELBERIEM[5-101 k3 K3 K3
K4 FELBERIEM[5-101 X4 Ka K4
K5 FELBERIEM [5-101 XS K85 b &)
88208 (X) 88208 (X) 88208 (X 88208 (K
HEDE(CEX/CED) BiE R b2l
hE:3 2% 3% 4% 14 24 3% 4% hE: 2% 3% E:3
A1 A1 A1 A1
*2 X2 X2 K2
A3 FELRREZIMR 5101 A3 A3 X3 Eigitz%%;z
ZERORR
X4 FELREZIIH|5-101 X4 X4 X4
A5 FELREXIIEH | 5-101 x5 A5 A5
88218 (&) 88218 (&) 88218 (&) 88218 (&
BE DI (CEX/CED) B R 3 K2R
15 24 3% a% 14E 24 34 4% 14 24 3% A%
#£1 1 £1 #£1
#2 £2 £2 £2
£3 FULREEIRH|5-101 £3 £3 3 E;%"&%’z
ZRORR
4 FELRERIEH [5-101 £4 £4 £4
5 FELRERIEH [5-101 £5 £5 5
88228 (D 88228 (1 88228 (D 88228 (-
BEDE(CEX/CED) BiE fR R R
1% 25 3% 4% 1% 2% 3% a% 1% 2 3% a5
£1 £1 1 £1
t2 EENE-OFHE 13—309‘ t2 t2 t2
+3 ERNE-L0FHH | 13-309 +3 +3 +3 Eé?%i‘i?ﬁi
‘ XEORR
t4 BN OFHE 13—309‘ 14 t4 +4
15 EUNE-OFHE 13—309‘ +5 15 15




88248 (B) 88248 (B 88248 (B 88248 (B
HE DB (CEX/TED) HiE il ES ] RERE
145 2% 3% 4% 15 2% 35 45 14 2% 3% 4%
A1 A1 |3 i A1 A1
L 5-101
A2 |6 A |ssne 1000513913 21 mx |A2|@ 5-102 A2 EY X A2
A3 | R | FreRmEiEm|5-101 £ gk A8 [asmansome |13-311 A3 EH R A3
505
A4 |xi R |FLeREIFN|5-101 £ |k A4 Aa EH R Aa
A5 FELRBEIRN [5-101 BS AS A5
88258 (W) 88258 (W 88258 (W) 88258 (L
HEDEB(CEX/CED) 3 K&
14 2% 3% 4% 14 2% 35 A% 14 2% 3% 4%
pal X1 Fﬁwsgm i pal x4
L 5-101
X2 | A i Ex K2 |mmmBEs |s-02 k2 EY1 X k2
K3 |24 BA_|Feemmsinm|5-101 5-102 | K3 X3 £ 2. X3
il gX
K4 |24 A |FeewmwiEg(5-101 5-102 | k4 K4 £ sk K4
£ 85X
K5 FELREEIEH|5-101 X5 K5 X5
88268 (K 88268 0K 88268 UK 88268 Ok
HEDEB(CEX/CED) 3 K&
1% 25 3% 4% 1% 24 3% a% 1% 2 3% af
K1 K1 |mmsmss |50 X1 1
5-101
K2 | A EZ Ex k2 }32&9.@%,& 5-102 kX2 EZ X K2
K3 |l A EZ Ex_|k3 }32&9.@%,& wE k3 i (2 k3
K4 | ik A EZ Ex_|ka }32&9.@%,& wE Ka i (2 ka
k5 K5 }ggw.@%,&z WE K5 K5
88278 (X) 88278 (X 88278 (X 88278 (K
BE DB (CEX/TED) A R KER
15 25 3% 4% 1% 25 3% a% 1% 24 3% af
A1 |4 254 EZi 294 | K1 Fﬂw@%%& soioe X1 EZ ET X1
L 5-101
K2 |4 254 E3 25t | K2 [mmosEs 5102 x2 EZ E2 *2
A3 |4 254 E3 294 | A3 X3 %4 E2 *3
K4 |4 254 E3 25 | K4 x4 %4 E2 K4
piN:] X5 X5 A5
88288 (&) 88288 (&) 88288 (&) 88288 (&
HE DB (CEX/TED) HiE f R KER
15 25 3% 4% 14 2 3% a% 15 24 3% af
£1 |4 254 ET 294 |21 £1 EZ E2 £1
£2 | %4 254 E3 25 |#2 £2 EZ E2 £2
7 - AR ik NENH
£3 23 e R g g0 | 23 Lol kel
rm) XEOEH
$4 £4 #4 &4
#5 £5 £5 #5
88298 (D 88298 (D 88298 (D 88298 (£
BB (CEX/TED) HiE i ES KRERE
hE:3 ‘Zﬁ 3% 4% 14 ‘ziﬁ 3% 44 14 ‘25 34 E: 3
|£1] [£1] [£1] [(£1]
L SRAL =T L BRALE—U T || BRAL A=y T L
(HHTHESE) (HAiER) (HHTHER)
|£2 | [£2 | |£2 | [£2]
k- NFAG
IBY BIElaL
13 13 |Exmm 13-320 +3 it 13-320 13| EORER
Lt z=n i ERRIERE
308 (B)FT
ta t4|Exmn 13-320 t4 ERER 13-320 ta
Lt z=n i ERRIERE
15 +5 15 +5




88318 (A 88318 (A 88318 (B) 88318 (B
BEDE(CEX/CED) k= 1 ERERE Rk
14 2% 3% a% 15 26 3% 4% 1% 2% 3% af

A1 B1 A1 A1

A2 B2 A2 B2

A3 B3 A3 A3

A4 B4 A4 A4

B5 BS AS BS5

9818 (O 9818 9818 9818 L
HE DB (CEX/TED) i AR RERE
15 2% 3% a% 15 2% 3% 4% 15 24 3% 4%

%1 x1 P4l x1

%2 K2 %2 %2

X3 X3 X3 K3

Ka xa Ka Ka

X5 X5 Pe: K5

9828 0K 9828 K 9828 0K 9828 Ok
B DB (CEX/TED) # R
hE:3 2%F 3F 4F hE:3 2% 3F 45 15 2% 3F 4%

7K1 K1 K1 K1

k2 k2 k2 k2

K3 k3 k3 K3

ka k4 k4 k4

K5 K5 K5 K5

9838 (X 9838 (X) 9838 (X) 9838 (X
BEDE(CEX/CED) k= 1 fREERE Kb
15 26 3% 4 14 2 LT3 a5 14 2 3% atE

A1 A1 A1 A1

*2 X2 K2 *2

+3 £3 *3 *3

*4 X4 X4 *4

+5 X5 *5 *5

9848 (&) 9848 (&) 9848 (&) 9848 (&)
BE DB (CEX/TED) A R KER
14 2% 3F A% 15 24 3% 4% 145 2% 3F 4%

£1 £1 £1 £1

£2 £2 £2 £2

£3 ®3 mERzTa [5-203 £3 3 K

£4 £4 &4 £4

£5 £5 £5 £5

9858 (1) 9858 (1) 9858 (1) o858 (£
BE DI (CEX/CED) B R 3 K2R
14 24 3% 4% 14 24 34 4% 14 24 3% A%

41 [steipums [5-403 +1 11 |stemmuis (5400 +1

42 [sreipums [5-403 t2 12 |sremuis (5400 t2

43 [steipums [5-403 +3 13 |sremmuis (5400 +3

+a +a +4 +a

15 15 15 15




9878 (A) 9878 (A 9878 (A 9878 (B;
HE-DBCEX/CED) B 23 2]
15 24 34 -3 14 24 3% 4% 14 24 3% a%
A1 A1 A1 A1
A2 A2 A2 A2
A3 B3 A3 A3 ii#i%?$1%
A4 A4 A4 A4
As As A5 As
9888 (O 9888 (W) 9888 (X 9888 (X
BE DB EX/CED) B i ES KW
1 24 3 4% 14 25 34 A% 14 24 3¢ a%E
x1 X1 X1 X1
K2 K2 X2 k2
x3 X3 X3 x3
K4 xa x4 k4
x5 x5 x5 x5
9898 0K 9898 0K 9898 0K 9898 Ok
BE-DE(CEX/CED) B i ES KW
1 24 3 4% 14 25 34 A% 14 24 3¢ a%E
K1 K1 K1 K1
K2 K2 K2 K2
*3 X3 s o B
K4 K4 k4 ka4
K5 k5 K5 K5
98108 (X 98108 (X 98108 (KX 98108 ()
BEDE(CEX/TED) B GEFR KT K2
15 24 3 4% 14 26 34 4% 14 26 3 Y3
&1 K1 ks X1 K1
Ereitd
A2 X2 ks X2 K2
Ereitd
RE2AR - AT R
A3 A3 & 2 s—RHE| 5,0, | A3 A3
A4 z
(H)
X4 A4 Zi X4 X4
Ereitd
x5 A5 5 A5
98118 (&) 98118 (&) 98118 (&) 98118 (&
B DB (CEX/TER) Bik G E KRR
14 24 3% 4% 14 24 kE:3 4% 14 24 3 A%
£1 £1 ki £1 £1
ErERt2
&2 &2 ki €2 ®2
ErE2t2
RE2AT - TATH &
#3 #3 Ly Bt 5—RER| 50, |3 #3
ErE2t2
(H)
&4 &4 Hit &4 &4
ErE2t2
5 25 £5 5
98128 (1) 98128 (B 98128 (1) 98128 (+:
HE-DECEX/CED) B EEs A%
15 26 34 4% 14 21 3% 4% 14 26 3% af
+1 £1 iR 1 +1
Fo34
t2 t2 iR T2 t2
Fo34
+3 +3 P +3 +3
Fo34
t4 14 iR ta 14
Fo34
+5 +5 +5 +5




98148 (B 98148 (A 98148 (B 98148 (B
BEDE(CEX/CED) k= 1 ERERE Rk
145 25 3% 4% 1% 25 3% a% 1% 2 3% a%
905 |5-402 B1 Kl B |semnmmn s | 5-402 A1
Fo54
A2 A2 &ige A2 A2
Erei g
A3 B3 it A3 . A3
;r;;(; AMEIRIE | 5-403
Ba B4 i/ [5-401 Aa Ba
A5 BS AS BS5
98158 (O 98158 (W 98158 (O 981568
BEDE(CEX/CED) B fREERE Kb
15 26 3% 4 14 2 LT3 a5 14 2 3% atE
pal x1 Pal pal
%2 K2 %2 %2
X3 X3 X3 AMBES | 5-403 X3
Ka xa Ka Ka
x5 x5 x5 X5
98168 K 98168 0K 98168 U 98168 Ok
B DB (CEX/TED) B R
145 2% 3% 4% 14 2% 3% 4% 14 2% 3% a5
K1 K1 K1 K1
k2 k2 k2 k2
K3 k3 k3 K3
ka ka Ka ka
K5 K5 K5 X5
98178 (X) 98178 (X 98178 (KX 98178 (X
B DB CEX/TED) B LSS XEE
1% 26 kY3 4t 15 26 3% 4% 15 2 Y3 4
A1 A1 A1 A1
A2 2 X2 X2
A3 A3 A3 A3
K4 K4 K4 K4
A5 A5 A5 A5
98188 (&) 98188 (& 98188 (& 98188 &
BE DB (CEX/TED) B ) S35 KER
14 2% 3% 4 14 26 3% a% 14 2% 3% a5
£1 £1 £1 £1
#2 £2 2 &2
%3 23 £#3 AMBIES | 5-403 £3
#£4 £4 £4 &4
#5 £5 #£5 #5
98198 (B 98198 (1) 98198 (D 98198 (£
BE DI (SEX/TED) B fEERE KR
14 26 3% a5 14 2 34 4 14 26 3% 4t
1 t1 t1 1
t2 t2 12 t2
3 +3 i3 3
14 14 4 t4a
15 t5 t5 15




